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% WNEQ We groue Variodies and/or constonts on the SAME
SIPE ofF ¥he “eguamof, we use SEDMAS and fDUR.

\
eA~ Lt-k'x. + x = 30O

v |
2X. = 0

S | 5
- Wien we NMONE vonables and/oc consants ONER. e EOQUAL
SlaNs we use SAWDER .

> e !
ex . B +u .—; Sk OR P 3x +4 *5x
- X —3X sy & =%
4 =+ 2x -2x+4 = O

2 -4 -y
\

2. 2.
RBSOR 2 =38
-2 2

wWhen BoTi SiDEs have “hew Voviable “Stuck” \nside
(0Cets, DISTHBUTE the cotficient, Hhen solve with SAMDER.
L?L> uses BEDMAS swnce e dont C(oSS the = S\ -
Means MmuLTiIPLY coef@icient ntp a_\l Par'ts in  Brackels

~ ——X
ex: S(5x+3) < 2@\-\-‘\8)
25x + \E  =* x + 36

— bx | — @
19 + I = 36
s 5 T—\ S
=_2Z\
\a \q Final answer musy

{ <
Z:{Il‘{} ‘o8 & pYOper Trachoo.
\9
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2. 3(2.1x- 1.2) < Y (0% + 0.85
G->x — 3.6 = 2.8x + D>.%
-2.8% I -2.8%
3.5 — >.6G ¥ 3.4
+ 3.0 T+ 3.6
2.52 4 g

W
Ji

3.5 .
CHECK: SIDES ARE S

3(2\x—l2) 4(0'7x+0853
3(2.1(2) - 1. 2) ‘-&(0'7(2_)-\-085\

T a J

LS #F KS
4 | & |
3. 2.6m = W0—-\.M4m Y, (3.8—0. &y = -lly
+ Ym +\.4m +0.6y .+0 Gy
tyn = 10 28 =05y
-0.5

?\,’\/ 2V g ANy 2(7_%—3@L .

5. 2=
S {

br — 2 = Ux R(Ex-3) 12%
Sy ~ 2 2

int, ¢ ( =X
3 d 2x -3 F x
-2 = §_)c -2 x (T 22
-2  37-8 -3 = ux
m -3 =
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Make ta CoerrCceNT in TRONT
L Because 1D

December 9,2019  9:23 AM MuLTipy ”m m{

G. 2%—‘;(%\7— 37(,+|(7°30\Q é‘(?_—x—‘S)= (3x+41)

il
2

2 Z
2 (2 —"5) = 3( 37@+\j§7—’3

- +5 Bx +2

2(2%x-5) £ 3(23x+\) 27‘5 R
I —10 =+ 9% —Sx =133

“ X —3 I-qq’}( —+3 G.:.-E G 6

—13 =By * G
5 \ g s ::—|3
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